39 Churchill Ct,Saskatoon,SK,CA

Gross Living Area: 1297 sq. ft
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Space Area (sq. ft)  Calculation
FLOOR 1 787 -((285.1 +285.1) * (81.8 - 159.4) + (285.1 + 351.6) * (159.4 - 159.4) + (351.6 + 351.6) * (159.4 -
(Living area) 210.6) + (351.6 + 363.2) * (210.6 - 210.6) + (363.2 + 363.2) * (210.6 - 359.1) + (363.2 + 287.1) *
(359.1-359.1) + (287.1 +287.1) * (359.1 - 434.3) + (287.1 + 6.6) * (434.3 - 434.3) + (6.6 + 6.6) *
(434.3-81.8) + (6.6 +285.1) *(81.8 - 81.8)) * 0.5 * 0.00694
BEDROOM 150 -((546.9 + 546.9) * (225.9 - 229.9) + (546.9 + 552.9) * (229.9 - 229.9) + (552.9 + 552.9) * (229.9 -
(Non-living area) 359.1) +(552.9 + 363.2) * (359.1 - 359.1) + (363.2 + 363.2) * (359.1 - 256.2) + (363.2 + 484.6) *
(256.2 - 256.2) + (484.6 + 484.6) * (256.2 - 225.9) + (484.6 + 546.9) * (225.9 - 225.9)) * 0.5 *
0.00694
UTILITY 262 -((552.9 + 552.9) * (81.8 - 229.9) + (552.9 + 546.9) * (229.9 - 229.9) + (546.9 + 546.9) * (229.9 -

(Non-living area)

225.9) + (546.9 + 484.6) * (225.9 - 225.9) + (484.6 + 484.6) * (225.9 - 256.2) + (484.6 + 363.2) *
(256.2 - 256.2) + (363.2 + 363.2) * (256.2 - 210.6) + (363.2 + 351.6) * (210.6 - 210.6) + (351.6 +
351.6) * (210.6 - 159.4) + (351.6 + 285.1) * (159.4 - 159.4) + (285.1 + 285.1) * (159.4 - 81.8) +
(285.1 + 552.9) * (81.8 - 81.8)) * 0.5 * 0.00694
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39 Churchill Ct,Saskatoon,SK,CA
Gross Living Area: 1297 sq. ft
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Space Al'ea (Sq . ft) CaICUIation Coordinate Polygon Area Algorithm using inches
FLOOR 2 1297 <((552.9 + 552.9) * (81.8 - 359.1) + (552.9 + 287.1) * (359.1 - 359.1) + (287.1 + 287.1) * (359.1 -
(Living area) 469.4) + (287.1 +-4.8) * (469.4 - 469.4) + (-4.8 + -4.8) * (469.4 - 81.8) + (-4.8 + 552.9) * (81.8 -

81.8)) * 0.5* 0.00694
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